WITTENSTEIN alpha

LP*/LPB*
Generation 3

2022-D039182 Revision: 05



Revision history

Revision Date Comment Chapter
01 28.03.2011 New version All

02 16.05.2012 Generation 3 All

03 28.11.2012 Safety All

04 08.04.2015 Safety; DIN 3.2;3.10
05 14.12.2016 Adapter plate 3.2;3.4.2
Service

In case you have technical questions,
please contact:

WITTENSTEIN alpha GmbH E E

Customer Service

Walter-Wittenstein-Stralle 1 You D)

D-97999 Igersheim =T

Tel:  +49 7931 493-12900 E L

Fax: +49 7931 493-10903 LP* LPB*

E-mail: service-alpha@wittenstein.de Motor mounting video Motor mounting video

© WITTENSTEIN alpha GmbH 2016
This documentation is copyright protected.

WITTENSTEIN alpha GmbH reserves all the rights to photo-mechanical reproduction,
copying, and the distribution by special processes (such as computers, file media, data
networks), even in parts.

Subject to technical and content changes without notice.

2022-D039182 Revision: 05



1

2

3

74 . 05

AFE AT A O] THBH ettt e e e eee e et eeeaeeeteeeae e e e eeneeareeaaeeaaaas 2
1l L 7] G e 2
QHE QETIGE] L ooiiieeeeeeeeeeeeeeeee et eseseesesetesaesaseaseseseasteseessenseasseneeenesaeennensens 2
21 T T e 2
22 e 2
23 FFHOR AFFE T AT L& AR e 2
2.4 F A R G B A A O] e, 2
2.5 Al G - B G ] e 3
2B T e 4
2.7 ] T Bh O e 4
2.8 R T A T i 4
2.0 B e, 4
TIE HIOTE] AL oot ee e et e e et e e et e e e e e e s e eese et eeseeeaeaeeeens 5
3.1 LPT/LPB* 155 A}o] 25 38k 72719 & i 5
B2 T E] e, 5
3.3 Z)AI ZFZT7] FFZFEEZ] (LPBT ) oo, 7
3.4 ZFET100 FLE] BB 7] oo, 7
341 o]HE] ZHolE ALH 2837 (LPBT oW 3% ) oo 7
3.4.2 B ZHBE7] (P LB ) i 8
35 F S0 A I T R e 9
351 &8 Z A HAHEE T)A 84 (LPBT) i 9
3.6 711 ZFE7] ZFZFEE 7] (P ) oo, 10
BT A T B e, 10
3.8 AL B H S B T A E e 11
3.9 T ELO] TR Al A oo, 11
BA0TBTON T EE Al AL e, 12
31199 7)Ao A EEOZ AFLE = YA F7)o) e 2 EF 12
3127285 T O B e e, 13
BB 7 A L e, 13

2022-D039182

ko-1



alpha

ALg A Aol s

—

0 ——
T
%%
I R
7o ﬂ%
o P
— T
I 3
ol MWEE
=7
W e
=
o ok
Wy D
MY
W o
5 kR
. ‘IIAI.O
)
<|m aumm
% B
T
o WT
oo B°
m% goﬂa
o AR
oo e
o)) WWMM
AN
o ELHW
TR
v -
,M N oL
B REw
: il
S =i s
‘HA_I,WHE;QL_E
W T o ok nk-

AR 7|3
t}

1.1

7} AbgRUY

k<2
w]
p=

I A AR

o
=1

% ARE v

B

oo A

b

=
=

oL
[€)

F 8 A

& 57

® A o

= o]/

B

X
%o %o
- <
™ —
%o ﬂ6 wr
—_ | %]
o <<
N | W)
== ~ |7 |T oF T | T
m.wiwﬁ%aa&(\i
. N —_ OW._ — _E A_
— 0 X ‘mﬁl
= %E
=z =
oy b3 gy
m >
N~ =
Gl
< MmioAaMm||O
/l.H mm
- P
Sife
m%PLqu, (11}
\\\\\\\\\ =\ 2
< \ ° X
o P :
<§i e
P
Fid|
Fl
m@w,//e

o AHgE U,

-
1

A4
He QoA ALgH oA kgL,

5|

ks

A E7hE okl A

et

A

=
L

gl
1t ofef el A Rt AR5 of of

i Al v

= T
Zo e

d 7

IRy

9]

Y

oy
e
w
{
1)
B
-
™
X
ok
oo To-
o] _Lﬂ
~ H_O
o
NEON
o)
T
"R
o+ 1

- 1

o
o

7l 2 WITTENSTEIN alpha GmbH

105

RS

2022-D039182

ko-2



AAG A3t B AE 5

N | alpha

2

®

7] Aol 7+47161 4 27

S

AZd 1

o

=

2y

Z}

=

=

e e AR Eo
AU,

o 1&7]

3]

- .

o

A A A

S

A8

=

=

Al 23 2 A ZERAL

1

7949y,

i

23]
~

A

—_— —~ —
<~ Byl ow
o N = Bl s~
T oF oTﬁw KN
w W aE e
S R
NN o
T o R e
oo HT._ Eodﬂ AT ﬂﬁ&o
o Moo ol 55 of
] ol
o = Rl o
NG |
o BNz Ha
IR ] <7
o T e
el = quom * Wﬂ
o A Bl X
B 3 duis | o
i T oomwole wwr
o N H %o 7
Nfo T
< S o
= B EHUlw L
w LN RET 7 S
R
mﬂw M T o | M_ o
Bot e of Wok | ofz
N o o |4 e

ko-3

2022-D039182

105

RS



alpha

SAY FEFA Zo|W &7

LA
= —

e

A &= EGH 72 294 F AU

S HERPE

S

o A

P
2

Ry

2.6

<)
ik
,H.OWOT
ﬂ,ﬁﬁo

e

JJ
M 55
X
o=
B =
A
T
T —

»
ﬁoﬁ
BN
o )

N 4
e
mﬂ
°.
B
0T &
oA ®
T X
+ ‘mﬂ
AR
oj

CNE ~r
&5 .wa
R O
BEgc)

vy
P o
T Mo
L.UJM.,._UT ‘mn_u
TN T

5
Mmu%ﬁ -#
KON o Al
] %HT o
e | o

.
P E

N
dro 7R
Nof 4 o

mj

TA R 4A

2.8

md

o) 3 7] 4wl

o

3/M<4

T
IEE

500 A7t 7HEs &

A&

AE A

FARF 2

~H

o4

o

—_—

Lo}
o

—

N

Thl-2: §AH5 44

-
=
my
ay
T
“W
TR
W
o
T
A
~
)
B o
~ <
<0 Z
s I
g
x X
- file)
s B
WX
™ ]
il

o) X
~ &
Mo
X‘.y_ ﬂa
p T
m, T
op oy
S~
%o o
Mo Rr
C.—O Xﬁi‘U‘ O_.g
Noxodn
o] o %

| of | . .
of |2 .
< < | o] of o]
i <8 | ~
. o |<E | o | <E
o T — | <P —
" | o wm DTN
(AU R B KN - BN
% | oy op | N B N
o T | 30
o = |0 o 3
p b |5 [
o)
s T | N & Ao
N ﬁi
— | :
z e
[ife] —_—
R ,me <|m
—_ X = A
o7 ]ﬂl N
CAEKRC TS Ak
ol [T
%0 | ~ éu ~
= | g |4 ~
N7 e 4
~ _ o}
N i)
N nl NF
4
o}
| &
-AO
o |
;OL
P .
~
NJo

105

RS

2022-D039182

ko-4



N | alpha

e I R
o) Hoon 3 |9
otz uhw%ﬂu al7)
L TR T
| o1 R | X o]
=< o g B | T
<] oF =y | X
=y WA | T
£3 otﬂuﬁ_uw £3
~ TR | R
B T | H
‘mwo MLW oﬁU OMU
| R o
e bl ME —
— | [%0 |y | B | S X
mom %o | 4] ooy |~ MM
T | 5o o |2
o
=M o | mﬂ =
= |0
5 |MEwlE |
Ao 0
& o mz_
0
—_
N
Njo Ul
olp A
M__.M £ ok
< oy
£ oF
ofJ

ko-5

BA} 1A A

1

s

&

b
T kol
— WITTENSTEIN alpha

T
H AHA

B

el

AHg
H

=
=

HE7|AM 2 (2HuE) E 5 3

1417] B e

2

o[ de ZeolE o] A5AZ A5 £4& FIT + AT

Thl-3: &2+
[e)

F

x
=

a7y =eto] B ) of gli= AEEokoll= 22 AAke] Al

AAAZ o] 283 3

§_'|__
o)
=

%_
2022-D039182

1}\1
g o] E}lo]

=

o 2= =
A
R

3z

oz BE
=

=

2
2o 4] oAl 5 gl

o A oHH
GmbH A

o o9

M ekl 2 (o
alpheno®, RP*, SP*, TP*, TP* HIGH TORQUE

WITTENSTEIN alpha GmbH o] i ¢]

91 &
z).
® °l

Z}
;‘

71€ HolH A E

°
FH]

105

3.2
RS

3



)

I

9]

T

hui
fe

| 9IE Z+¢] (LPB' <

o B
PO
=M X TF

N | alpha

"Tbl-4"

v
it

(

L= A
o B

Al

o Q= A AT FAES E
o ILE| A|zALS] ARl

o
|
S|

ho]
o0 | W
% | 1)
Nz
Uo
—_
5|
w | Y
%mwm
|4
—ﬂ_‘%
iy
s

105

RS

LPB*

1) 3.3 " 71 Al 2571 %
171 (LPB+)"

°©

)

&

pzs

"Thl-5" o] & A x| o]

AAGAA YA Ha =1 o]
F

Thl-5: 2 E A

AYA
a1

=
=

T

d =t 47

#l o] €] o] RLE]
A
7] (LP+)"
2022-D039182

o

)

s

=
=
-1

LP*
3.) 3.6 " 7179l 7]

Thl-4: o]} ¥

ko-6



3.3  71Al &7 Z&sl] (LPBY)
| gk 4= Qe AE Y Bl FUA7F d5Ut (A= BE S B=1%57] &

® BRG Aol A4 4 7 =
ol o g aokwt T, o 3o 7H47] ok ) Al FE A ghow ;Ao M A4
slok g}

4 UAbE 2] MER welalof gt

14E A 7] 8 29l A 310 " gulo] A2 A ARk kel B "Thi-14" o)A el e

N

® i
F g
® FF T2 (0) 2 AHgFHE A5 45718 $A] Aol BE Fel D) & FF L2

=3
of $IAIAI7]A AL .
o A Uile] VAL A A (o, Loctite® 243) & EX3AAA L. .
o 1 ALE AR 7119 2HE S T8 25715 AL
® 7Fsg 3 HEES oS T AT AE57E AASAAIL .
® A (dl - oA, o] o] 94 ) B ALEEHA] v AL .

3.4 F&7)4 2H 293517

3.4.1 oJ9¥E EdolE ALH 2¥Y317] (LPB' dl % &%)
o2 Al FALES LPBT otk A8 Ut} ol HE S o] EV} LPT o= ojn] 2y E o] s,

7 1 05 2022-D039182 ko-7



N | alpha

o) (B) A

TooH M= N oo T RS PR oy
R R dl = ° M wH = Hboﬁm_wﬂ o #) o
Mo .ﬂﬁ_@ <| X o w Xi oo ®L 'R Lto,#uu
T ol =l poo o P T T g pp
—_— L — =5 ~ —~ —_— — 0 _Z..#\A N O#
e W R ol o o T o & Il P et
=M TmITN W R ok W= @ PR o T O
= _r— o < 0 ~ o X ) o & ht}
. iﬁ%aﬁu N Moo ® aoo,M o PR H ) (%%A
%emﬂ R N 1H > ol ofp T o5 ol o — ol m_rmoﬂ &MFHHJI iu].l_x <z
=% TV 4 Nd < Pl T 7z X0 T X O R et B dﬂmrmﬂ%o;
_Ji T © 9w <n | e Ty ﬂ3(£w & %E%%% N %%
¥ vl ® B fx®R 5 BLooE THA®
o oM mRER — W aNE e Mgy
NR =K - ~ TS Ur% r/ aLSkaUr op ¥ o =
oy 1 Ry 20T BT ™ g T
= oF ®T PT W LS N PEE I =
m Wl T mm X g gy NT L DT P e, 2
= G| mAE s T R g TP T oS
S S S | s T MYN wxN T BT OB TS M
I N Rl R mmm Heo T @ RX Mo @ <
oH fal 2 9 e o ° °
;OL
' M K =
3 BT
I
N = o
M H = M
<t | © | O o
~ 2|22z |IT¥X
A
~ B /M mw )
=N %
© — e 0
ToEK A
? N ERS
— n,
~X | o o
#2188 =
Ar oo |- o
!
N e
™ N o
o —
i
— o
N
-
(82]

=

=
& .05

°|7}

H

U

3z
=

5]
o] w2 wo] o}

A7E L

® = (D) 9} o]

2022-D039182

ko-8



alpha

o]

—_

4

—

-

_ZTI

—

ag

Gl
ol

i

e Ul 79 YA (F) ol YA} A A (o, Loctite® 243)

o il 7o) ab

5
e
KR
%A
il

s

g

EB)d 1%

g ©]

iz
=

ake) HE (D) Z o]y
24 o R Bolrhn] Zol AL .

F)E AH

(
= O
==

7he] A}

i)

o 271 (0) 9 WAk A (H)

s}
=

il

"Thl-12"o| A &

-
it

A Apepr ol

A2}

3.9 "X E 9

1
1

A 7] 2 A%
& 91U

b gko E7h4) Wol Wit

(B) o] &=

£ o9 FeHolE

71 (A)

3L
=

o ATH AEY

71A 8.4

L=
)

&

=} 5]

29 2o %

3.5

H

ully

__A_“—

_ oy
o ™
x X N o
of XM mT
wXE WE
K IR ™
Ry ol ]

AR )

b_._ U_l - Mo

o
0| S
o | B
— | OO
—
o
o3
N | @
— | —
—
o
KIS
01
LO
o
S |2
O |«
o
22
01
NJ
.Ol]
=&
+ | &
m| E
A | «©
=) |
S~
+
n,
—

Z'

A=) o] F2E = 714 &4 (LPBT)

x
=

=9

3.5.1

B
i
149

]
7
A

=T
(G
- A i

W wlwl @

o o]:

3| 4+ Aceton B
= RSk
& *
9] o] &

o} 7] £

s
=t
Loctite® 7063 @} B.Zo] ]
(e}

H

g

ERRY

E

z
L

& A
=
G
ol
M

s
H A
to]

ko-9

2022-D039182

74 . 05



3.6

ko-10

o o]Fo] ME F & &9 FUA YA
o prbol]l LA} A A (o, Loctite® 243) & EX st A golli= £02 UYAE Fol4AL .
o NAQH 29 B 0|28 1 AHE) o FE BEE) (1 7)) & Hojx F wy gzt
HHako 7 Zolrbm 2ol AlQ .(F "Thl-9" x).
LPB* g 2E 1A YA
A
57 (o xgel | 29 Ea Nml | FRxPHEx@e] | 29 £ [Nn]
T | [mm] x [mm] | (A} =2 10.9) | [1x[mm]x [mm] | (ux} =3 12.9)
070 M5 x 12 7,69 5x M5 x 12 9
090 M6 x 16 13,2 7 x M6 x 16 15,4
120 M6 x 16 13,2 7 x M8 x 20 37,3
Tbl-9: ool ME Ze] H-34
HE Fg= ao] Ay PP, BE Fjo ME e 7H&7] 9 Moy Fd 43S
R
o A}&£3} wlultt PALe] AA AL E o] cymex® & 0] &3] o] 24} 7153 Wlojg o] =S 3
A3 2.
o SW A2 o] ojo] ME X o] 2§3X| FEF ojo] WEES 2AHYA L
719 shg-Aell = 71 A 29T = A% vl 71 WA
ol AdFUTt.
o HEF AEY B 2 WS 3] HhA L.
WhAbs o]l R s oF vk, A g vAF A7)
2 B4 3.10 "l Gz Al ARG o] 1 "Thl-13"
ol A geldt 4= dF Y.
o ] 7§2] vpatell A} LA Al (o], Loctite® 243) & =¥ 544
AlS..
o Ul /o] g UALE AREEIA S B8 AE5VE 71
of LAFATIAA L.
@ BHS HE F AT FE7 5 FAAA L
@ oM (o kA | o] Fo] oA ) & AFEHA] WAL S
AlE 4 A5
ARG ALES A&7 &35 29 F s
o &S IS L .
- FH 2E7}-15°C o] gt = oA A +40°C & 2 alA = kg
.
- ZF 2E7F+90°C & A = YT
LRSS &GN e A ddS PN
e ARE =7l el A AH] 2 B ol 25k 7] Bl
A58 Ao SAAAAR ARG A A QA 3.12 "% Hlol B S
st Al L
o 7M7) AREa WX 7L §li AxE B A ALEEAIA L.

2022-D039182

70 .05



3.8 A8E £/ FEAHR
@ |¢uiiu En e 9 e AF vin) Sels e A%8 2
g (EEEA o, R 590 ) 2 7)o = 7] kel uHA|
&2 AEYLUT.(d 22) A WoljHe F3 4 A 82 A
27t HAFUTH.
ol g AA g AR = A=Y A ANA vt= JF 7o
T &8 21 F G E &8 (USDA-H1 5% )
Castrol Industrie GmbH, Klitber Lubrication Miinchen KG, Miinchen
Monchengladbach AEHT :+ 49 89 78760
S + 49 2161 909-30 www.klueber.com
www.castrol.com
Tbl-10: &8 AZA
3.9  EEH BF A AY
BE
C 27
H LAk A
J 304
L ANk R Y S
K o] J= EHFH
Thl-11: BHS, &7 % 40 wj<d
* /LPB* AU 2ANE -0 | W E @) 9 2 A | 2 EF | HU S
A&7) Abol = [mm] [mm] [Nm] [N]
050 14 3 5,6 45
070 19 4 14 80
090 28 5 23 100
120 38 6 45 150
155, 1 & 42 8 78 180
155, 2 & 38 6 45 150
239 BH ARZE o] Bl So] ubS = 9l . Bad wpel 1 A uj o) o] d] 4]
Al L
Thl-12: REfol] F2 A Ab
74 . 05 2022-D039182 ko-11



3.10

3.11

ko-12

AHlel FE Al AMF

Lp* PCD@ | YAFF7l YA 5F | 29 EZR
HE7) Apo| = [mm] 12.9 [Nm]
050 44 M4 DIN EN 4,55
ISO 4762
070 62 M5 DIN EN 9,0
ISO 4762
090 80 M6 DIN EN 15,4
ISO 4762
120 108 M8 DIN EN 37.3
ISO 4762
155 140 M10 DIN EN 73,4
ISO 4762
Thl-13: LP* &:7] o494 ¢ WAL 1
LPB* PCD@ | JAFIZ| AL SE | 29 E3
#£7] Alel= [mm] 12.9 [Nm]
070 82 M8 DIN EN 37,3
ISO 4762
090 106 M10 DIN EN 73,4
ISO 4762
120 144 M12 DIN EN 126
ISO 4762
/ DIN EN
ISO 4017
Thl-14: LPB" #47] 3t9-4 o] g 71
gt 7| A A ZFEOZE AILEHE UAF T7)d) g 2 EF
F5 A 2 HE A AE 29 Ed= ALSE oA Sy 28 o718 7o 2 gy}
- VDI 22302003 d 2 93) o] W& 2=
- AR R AEH gigk vbEAlS 1= 0,10
- &E 359 90%
- [SO6789 W& AED SHFY EF &7 BY 11
AARAE TF S 25 e A4 9o 23 gkdyr}.
o o 539 S A3 HAAHIJHAL .
VALY %¢] EF [Nm]
YA S=F | M3 | M4 | M5 | M6 | M8 | M10 |M12 | M14 | M16 | M18 | M20 | M22 | M24
AL/ HE
8.8/8 |1,15|264] 52| 9,0 [21,5[42,5(73,5| 118|180 | 258|362 | 495 | 625
10.9/10 |1,68(3,88| 7,6 [13,2(32,0162,5| 108 | 173 | 264 | 368 | 520 | 700 | 890
12.9/12 [1,974,55| 9,0 |15,4|37,5|73,5| 126 | 202 | 310 | 430 | 605 | 820 | 1040
Thbl-15: FF A 2 YE 2 EF

2022-D039182

70 .05




3.12

/\41—_ tﬂ o] E1

Hd 518 &

- 71—71-/]

Eaip g Eﬂ Ei‘_

- AL TR,

SlE] Yl Alo] Eo A www.wittenstein—alpha. de

a7 grE&d A dlolE (093-D...) & FE3A4AA L.

A 4% AALe] A A= o] dtsiAlAl e
o .

3.13 F7HAR

RS

105

ARG A A= AR Abe] E ol A g 551l

PN
T

A=yt

. www.wittenstein—alpha.de/betriebsanleitungen &=+ ©] T =

=
=

= ol WAl o Qlsyt.

2022-D039182

A AA G ALE AW A E 2 PDR( A0 1MB) 3l

=

ko-13



/i\:

WITTENSTEIN alpha

WITTENSTEIN alpha GmbH - Walter-Wittenstein-Stralle 1 - 97999 Igersheim - Germany
Tel. +49 7931 493-12900 - info@wittenstein.de

WITTENSTEIN - one with the future

www.wittenstein-alpha.de

LP* LPB*
Motor mounting video Motor mounting video



	Leere Seite
	Leere Seite
	Leere Seite
	Leere Seite
	Leere Seite
	Leere Seite
	Leere Seite
	Leere Seite
	Leere Seite
	Leere Seite



